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QUESTION 1

What is associated with a project area and is a collection of practices, rules, and guidelines?
A. process

B. Team area

C. work item

D. rule set

Correct Answer: A

QUESTION 2

Which two items/objects can own a component? (Choose two.)
A. A user

B. An iteration

C. A source file D. A team area

Correct Answer: AD

QUESTION 3

Which two unit testing frameworks are supported by publishing unit test results in the build results? (Choose two.)
A. JUnit

B. CPPUnit

C. Functional Tester scripts

D. Log4J

Correct Answer: AB

QUESTION 4

A user discovers they have outgoing pending changes they did not make. What is the most likely explanation?
A. Someone else delivered changes to the user\\'s repository workspace.

B. Someone reverted changes that the user had already accepted in their repository workspace.

C. The team lead changed the baseline of a component on the integration stream to which the user\\'s repository
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workspace delivers its changesto.
D. A new component was added to the integration stream that the user\\'s repository workspace delivers its changes to.

Correct Answer: B

QUESTION 5

Which three work item types appear by default in the Scrum template? (Choose three.)
A. epic

B. milestone

C. defect

D. retrospective

E. sprint

Correct Answer: ACD
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